Theorem (Definite Integral by Fermat 1601-1665)
(for positive exponents)
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Set E <landdivideinteval[0 to a] asshownabove. Note that there are an infinite numberof intervalsshown.
LetS=thesum of areasof all rectanglesand let E approachl.
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Theorem (Definite Integral by Fermat 1601-1665)
(for negative exponents)
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Set E >1anddivideinteval[a to o] as shown above. Note that there are an infinite number of intervalsshown.
LetS=thesum of areasof all rectanglesand let E approachl.

S=a'(aE-a) + (aE) " (aE% —aE) + (aE%) " (aE> -aE?) + (aE%) " (@E* -aE%) + - =
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